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You should give it to him; but not to his fire — 1MIRY X919 10N

OVERVIEW

The X3 cites the Xn>>12 that all agree (even °2°937 °01° ") that if one is NN WooH
yan on o9 it does not become 7m1N; the reason is that the P09 states' 12 1nn and
we interpret it to exclude 11R? X717 and this y»r nmn is fit (at most) only for fire
fuel, but not for eating. Md01n qualifies this derivation.

- 595931 Y0 299 XUN 191 WATNIY TPH0N KT PN 1939 1IN

The "= stated that it is necessary to derive from the word Y2 that nm»1n w>on7
TwYTR 1R van, only according to 2510 -

- 2AN3Na 999 NN 1YY SINT

For he maintains that one may derive benefit from y2m, therefore if not for the w97

of 1MX? X717 it would become ;72170 if one was 1092 yan DRI W0 -
- YD H1AY NN 927 WNHPN DX 1795 F1Nm 19 KDY ANINA YN HONRT SHININ N5

However according to these 2°8in who forbid deriving benefit from y»r, we
can derive (that Tw17p 1R 11092 YR NN woon) from the 7100 of AR 37725 30N
w77 (and he should give to the 377> that which is holy), meaning5 something
which is fit to be wTyp -

mooIn offers an alternate source from where we derive that 7w17p 1°R 1092 YR WDA:
= 1391 N2 XMWY MNON DAY ANINA 9V 27919 NIN IN’Y 61’N\’) N INHN N

Or we can derive it from the word jnn alone (without the 17) that we are not to
give to the 772 anything unless it is something which is at least 782772 9n», so the
term ‘giving’ is applicable —

! 7,7 (2°v9W) 0°127 states regarding a 375 that 2 300 31 7337 nPwWRA.
% See (1"w1) 2,7>.
* This includes (among others) 7717° " and Pynw " (see 2,M2).
* 1,2 (M1K) P states regarding a 71 who eats 72170 that he must pay back the 172 with something that is N> "7
v,
> This 09 of "3 1N is referring to payment by the 71 to the 371 for eating his 7N (unintentionally), it is not
speaking about 72170 nwo7, therefore N1OIN mentions that we derive from this 109 that the payment must be a 127
WP Nk MR (something which can and will become 7m190), meaning that it is similar to the actual 10 NwAoR
initially (see 927 7"7 X,27 MooIN); and since it states "3 11 (see footnote # 6) it means that (both the payment and)
the initial 7770 NW57 must be something which is a 712°n1 (i.e. AR INN).
6 (Presumably) the explanation of 131 10°% 1Xw is referring to both 2109 (3797 101 and 1nn) that since the word 71N
is written by both of them, therefore in each case it must be something which is X372 20, but not poo2 Y which
is X172 MoX. See ‘Thinking it over’ # 1 & 2.
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mMdoIN responds to an anticipated difficulty: ’
= 19IND NIN NI PRY 927 XD NIONRD YININ 92719 10NN W1 19D yawn 7o

And therefore it is reasonable to derive from 12 3nn that it must be something

which is fit to be eaten, but not something which is only fit as fuel -
- SND9Y 1NN ANIN NDINT NG NIN NITN N9T ANNDY NN 135579

Meaning 82w 72190, which is only fit for fuel, for the exclusion of giving MoK
X317 as 7N is derived from 30N as mentioned previously.

MooIn asks:
= 99513 93739 Y27 NN YY) MINN ON)

And if you will say; the author of the X923 who asked, ‘how do we know this’
that one cannot be Y1 NN wo75n on 1oo, why did he ask it -
= WY NN DN Y927 NN NN WI9aNY 'Nn9a N9 ORI THN XM

For these 2°8in of this Xn»=22, which states, that ‘if one was y»n wsp» for

7190 on oo all agree that it is not 7320’ -
= 1199 5¥2p YN 10\’)1‘1? 1PNT NIN VIV 937 NNINA MONT INY X207 )5

Since these 0°Xin maintain that 1052 y»r is IR72 0N, it is obvious that if one is
YA NN w5 on 10D it cannot become 77770, so what does the X 37 5va ask?!

N1B0IN answers:
- 591 9927 RIPP933 SMNY PAVR KIT KINNY 195 NOIWST 999 ¥)

One can say; that it was obvious to the X923 that it was not necessary for the

NN12 to state; ‘everyone’ agrees that w17 7°K 092 AR NN WoOT -
- 53505 THOWNR KY ANINA PyPONT 73Nt DIWNT 1959530 Y999 %295 NYN

Only on account of »"'7799 (who maintains that y»r is AX172 7n), for on account

"How do we derive from 1nn that it excludes 1MR? 891 (meaning that it excludes 7&nv 7210, from which a 173 can
have nX17 [by using it as fuel), perhaps 12 1nn comes to exclude 7837 *M0°R only (however one can give the 72170 172
7RMY since he can have some use for it). MdoIN responds.
% All agree that one cannot give to the j72 as 70 something which is X372 MoK for there is no 1N (nothing of
value is being given to the j12), therefore those who maintain that 1052 Y1 is X172 70K derive (from jnn [or 1n11])
that one cannot be ynn w>1on on no; The word 17 teaches us an additional exclusion (the word Y7 cannot teach us
that one cannot give X7 *110°X to the 775 for we know that already from jnn), that not only can we not give M0°X
7RI as 7N but it must also be something which is 77°2K8% "X7, excluding nX»Y 7N (or o2 YN according to
3"77). [Similarly according to 3"7"7 who maintains that 11092 y»n is 7X172 2N (and the 100 2109 excludes giving
other X377 >10°X to a 1712 for 717N [such as a°&73]) the word 17 excludes 8nY 77170, ]
? See the Xn™2 on X,29, where the 0°Xin of this Xn>>12 (X2°py "1 and 711 72 1377 ") both maintain that 7092 pnaris MOKR
X172 (see top of 2,39).
1% 3%37 *110°K cannot become 170 because there is no 7N,
'" Even though "7 is not mentioned in this X012, nevertheless we need to say that the 7"7 was meant to include
3" as well (otherwise there would be no w171 in this ruling).
12 Others amend this to *ox7 (instead of *OXT).
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of the other 2°X1n who maintain that 7092 7 is IRI72 0K it was not necessary

to mention in the Xn»12 that all agree that 7092 y2n cannot become 72171 -

= 999931 Y09 295 Y51 3N Y¥a Y9N
So therefore the X713 asked, ‘how do we know this ruling’ according to »'7139
(who maintains that y»r is X372 0n0).

mooIn offers an alternate solution:
= 99513 931 NI ININP 1IND NDY 1D Y917 1991) 19N 29 993 ON

Or we can also say that prx> 72 1'%, who explained that we derive it from X917

89, he asked, ‘from where do we know it’ -
$9571997 11993 NN NI INNDY 991 23ND RNAYY 59197 NIINT 19 DIV 1AV 99Y

For it was obvious to °"217 that it was stated in the Xn» 2 according to

everyone; and in many place we find something similar, that the questioner gives
the answer.

SUMMARY
We derive from jnn (or 101) that 1"MDd°R cannot become 717N and we derive from
1% that it must be 719°2KX? "7 (and not merely for fuel).

THINKING IT OVER

1. It would seem that the proof from jnn (which is discussing 7m0 nwAo7) is a
much stronger proof (that we require a 772°n1 which is X172 *7w) than 01 (which is
discussing payment to a 375 for eating 1n)."* Why is it that moon first brings the
proof from 01 and only afterwards the proof from jnn?

2. Why is it necessary to exclude fooa ynn nman from 1 (or jnn),"” since we
maintain that Y1 is X372 TOX it is not his,'® and so therefore he cannot give it to
the y7a"’

13 See x,x3 "2 in 7131 7"7 'oIn.

14 See footnote # 5 & 6.

15 See footnote # 6.

16 See 2,) o°nos which states 121 7092 yAN 191 QTR W ANWIA DR 02T 1.

17 See X"y 0"wi P93, See 2"po X™MPA 790 O 1R V"W (whether 7R3 TR are w).
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